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Consider a series of repetitions to find the number of throws (t) required to get a "1" on a single 6-sided die.

For a given set of repetitions, the maximum value of t is t = tmax. 
Values for t then range from t = 1 to t = tmax.

The number of occurrences in a data set for each t value is Nt. 
For a large number of repetitions (NR), the weighted average number of throws to get a '1" is



This can be derived by doing the sums in the numerator and denominator with the appropriate probabilities for each t value. 

It can also be seen by the following argument:

For a fair die and a very large number of throws, we expect that 1/6 of all throws produce a “1” or 	 .
